https://universitynews.in/

= (2)
=
== -
7 GD-2704 ¢ ww-foll aln w1 ATE Wﬂﬂﬂ_ﬂr
== B.Sc./B.Sc. B.Ed. (Part-II) fafme  wen o~ fom wifm 6
Examination, March-April, 2023 = 2siny cos - Ryl W @ i
o ¥
PHYSICS
Write - differentinl - equation  for  onc
Paper - 11 dimensional wave. Prove that
= 2sinv cos w is n possiblc solution of
Waves, Acoustics and Optics NeY2 cquation.
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Derive an expression for velocity of
transverse waves in a stretched string.
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Note : Answer all questions. The figures in the right-
hand margin indicate marks.
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1. (a) 9T GO | 39 597 GA3 & 2 59 s AR HYEA Bl %‘”ﬁ IR ﬁﬂ
o1 fafag 9w 3 3= w9 e & 'E:'g?maﬁ E 3
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. i ista of submarine under the sea,

Wh_at do you mean by ultrasonic waves ? il?tig:i.scﬂ::;d ultrasonic wavesrtake 0.1

Write its properties and explain in detwl sec. to reach the detector. Given that the

any one method  for. production of velacity of ultrasonic waves in water is

ultrasonic waves. 1350m/s.
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Write Fermat’s principle and prove the Radius of a transparent, sperical glass 1s
laws of reflection and refraction using it. 60-crn-and its refractive index is 1.5 Find
. . - if) Linear
(b) QA G T T TRV 6om T @ W (f) Radius of aplantic surfaces (zi} inear
. magnification of the object plac
TEHX QW GG 9 S § o Swd aplantic point whose image is formed
1 wfafes # avi-fages qur el outside.
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Two lenses are placed at a distance of 3. @ - o 5 === mgsr
6 cm so that the image formed by the 1 H i
combination is free from chromatic and gfead aA=Rwl 3 el %1 ITET TH
spherical aberrations. Find the focal quif wehreT &t atres] AR ¥ Fg w2 7
lengths of two lenses.
Explain the formation of circular fringes
SErET ~ OR in Michelson Interferometer with the help
of neat labelled diagram. How are these
(a) T3 AfaEr w1 HEfafy guzmee) =g fringes used to measure wavelength of
HaeA ¥ 59 ver wfafas 9| 2@ monochromatic light ?
? 7 Ay :
€7 wEERT ) & qCN F Awael F ST 1.9 T
Explain working of Huygen’s eyepiece. afs A ?‘ﬁ:h T STHTT Ht w, D
How does the image' formation take HEgwH W IO W@ diaaisil | w6
place ? Explain. IAUTd FTd g | 3
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Calculate ratio of maximum  and
minimum intensities if the intensity ratio
of interfering waves is 1:9

W'ﬂ%ﬁﬁ:ﬂtwﬁmwma?ﬁﬁ
wal w1 oot =i

What do you understand by interference

of light 7 Describe necessary conditions
for obtaining sustained interference.

Ford-A0 sAfareomdt § r=0.7 ¥ o

F, Lyin 41 ¢ &1 9% WM W sifag
a W r=31_,

Find the wvalue of F, I, and O for
R=0.7 in1Fabry-Pcmt interferometer on
which I=73 I oax
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Derive an expression for intensity

distribution of single slit diffraction, also
give its graphical representation.
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Plane wavefronts of wavelength 6000A is
incident on a narrow circular disc. Find
the diameter of disc if the center of
image formed at Im is brightest.
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Explain construction and working of
Nicol Prism. How is it used as polarizer
and analyser ?

5893A wuresd ¥ dHifeam gyl & fag
FEES $I Ogdiy T we & HRER
1A BTG (1 = 1.5442 3R p, = 1.5533)
Find thickness of quartz quarter plate for

sodium light of wavelength 5893A.
(given pg=1.5442 and p, = 1.5533)
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S (@) IFWET F Tiw A wH B @ e R ot sraend s € e Sl SR
SLEIC Hiferwra =i : 4.7x101% Hz emafa & fafeor & g3
L it gra 3 Y
day wenfyg g ; ¥ WH 9™ 300k W T HAI AT
1 H QU @Al W el Sifee ) 3
Establish the relation between Einstein’s _ % 10-23 kom?2s—2k-!:
A and B coefficient with the help of (k=1.38 1{}4 gm-s ;
statistical mechanics. h=6.6 X 10734 Jsec)
' | " Only two energy states are allowed 1n a
(b) 6600A Tﬂ"'iaﬂ:f *F g F# 20 9O £ Laser system whose energy difference is
T el Hag =g G s E= T et equivalent to 4.7x10'* Hz frequency ?f
SEEEEICEEdIE g 3 radiation. Compare number of atoms 1n
these energy states at an absolu;g
Find the coherence length and coherence temperature of 300 k. (k=1.38x10"
time for 20 waves of light having kgm2s2k1; h=6.6x10"3% Jsec)
wavelength 66004,
3Te1ET .~ OR
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Explain construction. and working of
Ruby Laser  Also  describe how
unidirectional and coherent Laser beam is
obtained from optical cavity.
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